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“You have to believe that actually made them more employable.” 
(einde alinea 4) 

1p 9 Wat is de eerste zin eerder in de tekst waaruit blijkt dat sommigen 
denken dat het invoeren van een ‘UBI’ juist negatieve effecten zou 
kunnen hebben? 
Citeer de eerste twee woorden van deze zin. 
 

1p 10 What can be concluded from paragraph 5 about implementing a UBI in 
Canada? 
A It could be the cause of an irreconcilable rift in the political landscape. 
B It is a viable alternative that can replace the present welfare system. 
C It will impair the traditional social structures of the country in future. 
D It would be a logical step since similar policies are already in place. 
 
‘Giving more people a guaranteed income is costly, though.’ (alinea 6) 

1p 11 Wordt in de tekst ook aangegeven dat het invoeren van een ‘UBI’ op 
termijn juist geld kan opleveren? 
Zo ja, noteer het nummer van de alinea waarin dat gezegd wordt. Zo nee, 
antwoord dan ‘Nee’. 
 
 

Tekst 5  A Letter on Justice and Open Debate  
 

1p 12 What is said in paragraph 1? 
A Eroding fundamental constitutional rights might lead to domestic 

upheaval. 
B Repressing divergent opinions on behalf of a righteous cause is 

reprehensible. 
C The prevailing academic viewpoints and practices are obsolete and 

invalid. 
D Those in public office seem to condone disruptions by political 

agitators.  
 

1p 13 Which of the following fits the gap in paragraph 2? 
A The editorial content of papers and magazines 
B The free exchange of information and ideas 
C The intolerance towards science and research projects 
D The unrestricted access to public records and reports 
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‘Editors (…) clumsy mistakes.’ (paragraph 2) 
1p 14 What is the function of the examples in this sentence? 

A to argue that a stricter control of established institutions is long 
overdue 

B to explain why a string of isolated incidents can have such a profound 
impact 

C to make clear that the legislation on public misconduct is haphazard 
D to show that repression of alleged wrongdoers is already common 

practice 
E to stress that ill-considered publications are a threat to social stability 
 

1p 15 Which of the following fits the gap in paragraph 3? 
A confirm consensus effects 
B control opposing voices 
C defeat flawed ideas 
D impose dubious policies 
E trigger unwanted responses 
 
 

Tekst 6  The Romantics and Break Up Songs 
 

1p 16 Which of the following fits the gap in paragraph 1? 
A closes down permanently 
B forbids smoking guns 
C has revolving doors 
D hosts poker games 
E welcomes new guests 
 

1p 17 What is said about break up songs in paragraphs 1-3? 
A They are generally relatable but vary in intensity. 
B They follow a strict pattern to increase their commercial potential. 
C They help people overcome their own heartache. 
D They tend to be catchy even if they are dramatically inconsistent. 
 

1p 18 Which of the following can be linked to Wordsworth’s “visionary gleam” 
according to paragraph 5? 
A a child’s capacity to perceive life’s wonders in full dedication  
B a child’s innocence and disarming simplicity in times of trouble 
C a child’s natural tendency to act intuitively instead of rationally 
D a child’s refusal to wholly embrace the inevitability of adulthood 
 
 


